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ECONOMICS

{ Honours ]
PAPER - III.
Full Marks : 90 *
Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessariy

Use separate scripts for each Half

[NEW SYLLABUS |
[ FIRST HALF ]
( Micro Economics - 11)

f Marks : 45
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GROUP —- A

1. Answerany five questions : 2x5

(a) Distinguish between 'perceived’ demand
curve and "proportional' demand curve under
monopolistic competition.

() Examine the effect of unit tax on price of
product of a firm under monopoly.

(¢) Define cartel in collusive oligopoly.

(d) Define Nash equilibrium in the determination
of output of firms under oligopoly.

(e} Explainthe idea of discriminating monopoly.
(7 Explain the idea of selling cost.

(g) What is dominant strategy ?

(h) What is collective bargaining 7

GROUP - B

wn

Answer any three questions : x 3

2. Examine the relationship between rent and
clasticity of supply of a factor of production.
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- optimality.

¢3)

Give a brief cutline of Stackelberg modél of
oligopoly.

Briefly explain the contitions of Pareto

Under what conditions the trade unions can raise
|
wage rate ?

Explain backward bending supply curve of labor.

What do you mean by monopsonistic exploitation
of labor ?

GROUP -C
Answer any two questions : 10 x2

{a) Explain why a monbpolist determine output
at a level where clasticity of demand for the
good is greater than one.

(») Under what conditions is price discrimination
profitable for the monopolist ? 545

What are the underlying assumptions of the
marginal productivity theory of distribution ?
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How is constant refurns to scale (CRS) related

to this theory ? Discuss. 5+5

10. Assume that the product market is perfectly

competitive, show how the wage rate and the
level of employment are determined when the
labour union enjoys monopoly power over
supply of labour.

11. What are the major assumptions of Cournot
model of oligopoly ? Prove that Cournot solution
is a Nash equilibrium solution. 545

[ SECOND HALF ]

( Macro Economics - 11)
[ Marks:451]
GROUP - A
1. Answer any five questions : 2x
(a) What is neutrality of‘monéy ?.

() What is the basic diffe.réncc between
simple Keynesian multiplier and dynamic
multiplier ?
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(¢) What are the features of production function
in Solow growth model ? '

(d) What is the difference between classical and
Keynesian view in respect of money demand
function ?

(¢) What is the main weakness of the idea of |
Keynesian speculative demand for money ?

(/) What is effective demand ? {
(g) Who are Monetarists ? |

(h) What is real business cycle theory ?
GROUP -B -
Answer any three questions : | S5x:

Distinguish between'Pigou Effect ahd Real
Balance Effect. 5

Explain the theoretical background of Phillips
curve.
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4. What are the effects of (@) change in savings on
‘IS’ curve and (5) change in price level on ‘LM’
curve.

3. Does full employment of labour mean zera
unemployment rate ? Give reasons for your
answer.

6. What do you mean by regressive cxpectation ?

‘7. Discuss the portfolio selection for an asset
‘holder who is Inown as rick diversifier.

GROUP ~C
Answer any two questions : 7 10x2

8. Derive the [S and LM curve and examine the
stability of equilibrium of the IS-LM model. 6 + 4

9. Show briefly how the interaction between the .
multiplier and the accelerator may lead to
cyclical fluctuations in income, 10
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19. Compare the classical and Keynesian ihcome
Jetermation meodel in brief. In this contex
comment on the idea of classical dichotomy. 7+3

11. Bricfly explain the Harrod model of growth. 10
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